Year 5 Homework, Autumn Term Week 7
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1. Which is bigger, 18/20 or 23/25? How do
you know?
2. If 8 cakes cost £3.20, how many would 11
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cost?
3. Find 3 prime numbers that add together to
make 30.
4. 2719 x 88 =
5. What is 3% of 245?
6. What is 5/6 of 540?
\ Keep practising your times tables. /
Reading Comprehension
Please complete the reading comprehension ‘The Moon’.
i \ Optional SPAG question (1 housepoint if
Spellings /cmm \
Green Purple Which sentence uses the passive?
prison membership
imprison partnership Tick one.
imprisoned childhood The school proposed building a new playground.
imprisonment gran
prove wind The issue was discussed at a council meeting.
proven king
approval must The council voted in favour of the proposal.
disapprove wish
language plants They started building the new playground last week.
average notice
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Homework is due in on 15" November.



